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Choices '(80, points, 2 points ft;r each (iuesfiqu)'

( )According to the balance sheet model ofthe firm, corporate finance may be thought of

as the analysis of three prlmary subj %t-a;e%la Whﬂ:h of the following correctly hsts these

1

areas‘7 )
(A) Capital structure, capital budgetllrﬁ F—. 1a1y31s

'(B) Capital budgeting, capital structure, cap1ta1 spendlng

(A) The lower the d1scount rate the

(C) Capital budgeﬁng, capital structure, net working capitzil
() Capital structure, net -workihg capital, capital rationing

(E) Capital budgeting, capital. spending, net workjng capital

( ) Which of the following statemen

(B) Bonds with high coupon payments are generally (all else the same) more sensitive to
changes in mterest rates than bonds wﬂ:h lower coupon payments.
(©) When market ihterest rates rise, bond ptices will also rise, all else thé same.

(D) Bonds with short maturities are generally (Fll else the same) more sen51t1ve 1o changes

in interest rates than bonds Wltl“longe affirities.

(E) All else the same, bonds w1th lar er 0 ; payments will have a lower price today.

( )M youare hlred as the new CEO ofa corporatlon after graduatmn, which of the
following Would you cons1der to be your most 11nportant criterion for success’P

(A) Pursue activities that reduce the overall nskmess of the firm.

(B) Pursue activities that result in the largest proﬁfs fof the year.

(C) Pursue activities that maximize hfrrp ;;mona ealth. |

(D) Pursue act1v1tles that ma}umlze-ﬂl're mkmnt sck price.

(E) Pursue activities that lead to the*me%st-&b%e«atock price for the year.
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4. { )A financial manager who heeds to find out how long it will take before their firm runs

‘ | . outofcashif no ﬁ.lrther'cash comtes in should consider the

.(A) current ratio (B) qulck ratio (C) cash ratio

(D) net wo1k1ng cap1ta1 to total assets ratto ; liEi interval measure

5. ( )YYouare evaluatmg two annultles dJ—_‘ar id nucal in every way, exceiat that one is an
ordinary armulty and one is an annuify rict of the following is false?

(A) The ordinary annu1ty must have a lower present Valuethan the annutty due.

(B) The ordinary annuity must have a lower futu.re value than the a.nnuity due.

(C) The annuity due must have the same present value as the ordinary annu1ty

(D) The two annuities will differ in presen vaife y the amount (141). -
(E) The annuity due and the ordlnary nnmty vrill nake the same number of total payments

i i

e by J‘;

over time.

6. () Which bond would most likely possese the least degree of interest rate risk?
(A) 8% coupon rete 10 years to maturity (B)' 10% coupon rate, 10 years to maturity ‘
(C) 12% coupon rate, 10 years to maturity (D) 8% coupon rate, 20 years to maturlty

(B) 12% coupon rate, O years to matuut‘y (S
o s

7. ( )With regard to the d1v1dends paxfi B7;a cFrp ratlon ‘which of the following is false‘7
o (A) The dividends are con31dered a nﬂ'cn;v Jeff'the sha1 eholders. '
. (B) Dividends patd reduce retained earnings on a dollar for dollar bams

(C) Dividends are a non-cash expense of the firm.

(D) Dividends peid represent ause of ca'sfl by the firm. |

—_pd - -
-8 ( )The cash flow tax savmgs generated %s a—resTt of a firm’s tax—deduenble depreelatmn

expense is called (the) _ i ped T

. A ‘ :
(A) aftertax depreciation savings M%ng-dep;:eelhble basis . (C) depreciation tax shield

(D) operating cash flow g (E) afterta.x saIVage value = |

[

[
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9. ( )If operating cash flow is hegative, then

(A)the firm is bankmpt (B) the firni can pay no d1v1dends

. (C) oash ﬂow to bondholders must be negatwe
(D) cash flow to stockholders must F\pOSWIVE

(E) cash flow from assets may be pos1

10. ( )Whlch of the followmg statements is true‘7 '
(A) Present values' and discount rates move in the some direction with-one another.
(B) On loans with _nionthly con@pouﬂding, the APR will exceed the EAR.

(C) Compounding essentially means earning iriterest on interest.

(D) Future values decrease with increr:pgos' in rj:ﬁfm st rates.

(E) All else the same, the longet the fima-of a[lo n the lower will be the total fiiterest you

: i
el §

pay on it.
11, ¢ )Preemptive'rights refers to! 7
(A) The right of shareholders to share proportionately in dividends paid.

(B) The right of sha.roholders to share proportlonately in any new stock-issues sold

(C) The rlght of shar eholders to sha_;gg;oponl ter in liquidated assets.

.(D) The right of shar. eholders to voto_aLann al shareholder meetings.
I : 7 . (B) None of the above.

12, ( ) Whicli of thé -following activities would dectease net working caoital the ntost‘?
{A) Fmanomg a land purchase for a new manufaoturmg plant via a sale of new stock.
(B) Adopting a more lax credit policy on sales. _ |
© Decreasmg the nu1nbe1 of produrfr’:jes l}:dji‘f" ﬁrm carries.

(D) Adoptmg a. productlon scheduletha r_Berchs goods only after a customer orderis

[ e

gL

s e mnine]

! : ‘ received. *
S (E) Using long-term bank credit to reduce payables.

]

(%3]




EEL T PSR SNE RS L8 VEFE SO LR -
BIE : MBEH# ar: maz o | EEE L

o

TEGRFEE  ARIBAER TODE | o O
2, "é’%ﬂ\ﬁ’ﬁl“ﬂi%i ' BRTFE ST
SPRAE  BEEFEE ; SHEARENE - BIR

13.

() Which of the following is not'a type of agency cost?

(A) The cost of an audit of the firm’s ﬁnanClal' statements.

(B) The cost of a co1porate jet provided to the CEO as part of her compensation package

14.

15.

I6.

17.

(C) Loans pr ovided to the f'mn s marrqg’ergjat low-market interest rates.

(D) The costs of ﬁnancmg the firm. _
It: ﬁ1 m’s CFO

'(E) The cost of providing life 1nsurgg1/ce

{ )In capital budgeting analysis, the primary obj e'ctive shoulcl be to choose projects that-

(A) Least affect the balance sheet of the.company. (B) Maxumze futu1e cash 1nﬂows

(C) Maximize firm Value (D) Result in the h1ghest net income.

(E) M1n1m1ze initial cash outflows. .| ™.

1..

( )Evaluating a project on the basis of1 ’"E'.infre ental cash flows, and i 1gnormg the other

cash flows of the firm, is an applicatl SOt the ’ 7
(A) Equivalenc‘e theorem - (B) Law of one price | (C) Stand-alone principle .

(D) Bell’s theor'e_m. - (E) Equivalent annual cost procedure .

( )Which of the following statements regarding cash flow is false?
wmireed Pl .

(A) Cash ﬂow measures changes mwtheniinnzs account.

(B) Cash flow should be recogmzed n it oc urs, and not according to GAAP p‘rinciples.
(Cy Cash flow should be evaluated I -aﬁeel-tax ba51s ' S
(D) Cash flow and accountmg profit can at times lead to d1fferent conclusmns regardmg thc

des1rab1l1ty ofa pl‘O_] ect.

(E) Incremental cash flows should mclude opportumty costs but 1gnore sunk costs.

( )All else the same, the value ofa Ictal loptton ecreases as the
I Underlymg asset pr1ce decreases. o

P .
: S

II. Exercise price decreases o

III. Volatility decreases o .
(AYTonly (B)Iionly (C) Il only D)1 aucl.IIl only (E) Iland III ouly'

N
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18, ( ) Which of the foilowing project analysis methods likely would be the most useful in
identifying the one forecast variable with fhe greatest estimation risk?
(A) scenario analysis l * (B) simulation analysis - (C) strategic options analysis

| D) break-even analysis | (B) s 5TL$T‘TV}{Y FﬂTﬂl{'SlS

19. () The ability of shareholders tou rfh# d vliEnd policy of the firm and create an,

 alternative dividend payment pohc g dividends or selling shares of stock s

called (a): o
(A) Perfect fores1ght model (B) M&M Proposition I. (&) Homemade level'age.
) Cap1ta1 structure 1rre1evancy (E) Homemade d1v1dend pohcy .

—
20.( - ) Which of the feHowmg is mconm‘te t Wﬂ':h fficient markets at its str ongest level?

(A)On average security prices are 1 1ﬂi§’fﬁo:{> high nor too low.

s

(B) One cannot proﬁt regularly ﬁ‘om ﬁﬁb‘l"é’lﬁf ilable infor mation.
(83 H1stor10al ptice trends give you a good idea of vihere prices are headed in the futule
(D) Prices adjust quickly when regcting to new information. '

(E) It is not possible to earn excess abnormal returns by investing in the stock market.

_ | ey
21. () Which of the following statements-is-falsg’
- : . I P .

(A) Risky assets earn a risk premium;on ayerage.

-

(B) The risk-free asset has no risk I 'eun—iﬂ.efﬁcieﬁt markets. .
(C) On average the greater the risk, the greater the rewa:rd ‘
(D) When comparmg the common stock of two ﬁlms the riskier one will have the lower
price. ‘

(E) If markets are eﬁieient, then all pssefs-in #hat market will have the same. reward to risk

. el B A
ratio. - . r'J m

22.( ) Which of the followmg Would,l¢ely ﬁéve the greatest amount of systematic risk?
(A) A portfolio of the common stocks of 100 randomly-selected companies.

' (B) The market portfolio.
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24. %

25.

26

" (C) A portfolio half invested in the market portfolio and half invested in Treasury bills.

O)YA portfelio heilf inVested in the market ﬁoftfelio and half in stocks with B=1.5.

: (E) A portfoho made up entlrely of Tr eqsury b1

of the firm.

. () The explicit and implicit costs -as-sop-m% Jﬂ corporate default are ”che

- (A) flotation costs ' (B} default beta coefﬁments (C) d1rec1: bank:mptcy costs

(D) indirect bankruptcy costs (E) financial d1stress costs

{ )For which of the following situations will earnings per share increase for a firm with

positive earnings?

(A) Convertible bonds are exercised @oﬁ;{nb shares by the pondholders.

B) erents are exercised by the werrafiffo :

P LTl

(C) The firm has a secondary equity offermg in the market
(D) The firm _1n1t1ates a formal share buyback program. |
(E) Mailagers of the 'ﬁrm exercise 'their stock options.

( )Wthh of the following i is talse regardingstock optmns'?

il F =

-(A) Buying a call option gives youiheﬂgl olpurchase shares.

(B) Selling a call optlon may give y‘}u e b11 ation to sell shares.
( C) Both call options and put optlons at t11nes Bave negatlve value in the optmns market. .

(D) Buymg a put opt;on gives you the rlght to sell shares.

| (E) Selling a put option may give you the obligation to buy shares. ‘

(" )YThe proposmcn that a firm botrows up tc:iae point where the margmal benefit of the

1nterest tax Shleld denved from 1nc1é"'s“elﬂ dgﬁf:l just equal to the margmal expense of the

resulting increase inr ﬁnanmal dlStlefS JB;%' :

(A) Static Theory of Capltal Structti. ™ "“_‘T}S) M&M Proposition L

(C) M&M Proposition II. (D) Capltal Asset Pricing Model. -

tE) Open Markets Theorem.




S EHERAL 101 L5 R LI EHE AR EEAR L KR

BHE : W
15k : 352

BEE an wez | EEEE | | = & =
S . RS - AEETAS - TUE | 5 O g
pe o 2 EENERELSREL ) BUATERA | T 1]

3[R - %E%ﬂfe,;fﬁﬁ Elﬁﬁ%ﬁtiﬁlﬂ & 7E-

27

( YAl else the same, a h1gher eoxporate tax rate

(A) will decrease the WACC of & firm with some > debt i in its cap1ta1 structule

- (B) W111 increase the WACC ofa ﬁrm with some debt in its capital structure

(C) w111 not affect the WACC of a ﬁrfn f ome debt in its cap1tal strucuue

D) w111 decrease the WACC of afr n dejbt in its capital structure

B Wﬂl change the WACC ofa ﬁl ie.debt in its capital striscture, but the

28,

-(A) spot - (B) forward

29.

direction is unclear.

() An agreement to exchange currencies at some point in the firture using an agreed-upon -

exchange rate is called a L ___trade. |

(D) ﬂoatmg N (=3 tmangle

W

( )The “winner’s curse” refers to the faerl Het 1Lt ipvestors that participate in many IPOs tend
.M---o»-m_j']
to:
(A) Make money, on average, because underwrlters typ ically underpnce new issues:

B) Make money, on average, because issues tend to be over: subscnbed allowing one to

cover their losses on bad purchases.

— 1L . .
(C) Make money, on average, because.it-isunlikdly an IPO’s price will ever decline. -

30.

S P

(D) Lose money, on aver_ege, because-the 11'F)st -underpriced issues will likely be .

- oversubscribed, ' U

(E) Lose money, on average, because investors get few shares for overpriced issues.

{ ) The market’s reaction to the announeement of a change in the firm’s dividend payout is .

the:

31.

(A) Information, content effect.  ( E‘_fc i_(;fp;t.édlem1 effect. (C) Efficient Ma:rkets Hypothesm ‘

(D) M&M Proposition 1 {E) M&M%?r position II.

VAR
{ ) The effect on an optlon ] value‘bf“a‘smaﬂ*cﬂange in the value of the underlylng asset is

called the option

(Aytheta  (B) vega (C)iho . (D) delta’  (E) gamma

.7._
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32. ( )Theresultthata protectWe put can be perfectly replicated by owrnng a U.S. T-bill and ;

33.

acall opuon is the

(A) put—call parity relétion ' (B) covel"iéd call (C) protéctive put

D) straddle | (E) strangle .._.{\__...,_;! r

v br——

(. ) Which of the fbilowing distribufy on[sj\"w en ecbrded on the balance sheet, will result in

. achange in all three of the commox stotk] fetairted earnings, and additional paid-in capital

accounts?

'(A) Regular cash diVidénd (B) Cash hqmdatmg dividend  (C) Special cash dividend -

' (D) Stock dividend (E) Stock split

34.

35.

called the . it

| et

(A) Eurodollar yield to maturity “TBY Idndon Interbank Offer Rate
(C) Paris Opening Interest Rate (Dj United States Treasury Bill Rate

() International Pri_me Rate

( )The condition that relates 1nterest rate. dlfﬁerenuals between countmes to the percentage

: .d1fference between their f01 ward arrd“szjjbf'éf {ange rates is called:

36.

37.

{A) The unbiased forward 1ates con 1t1 3) Uncovered interest rate parlty
(C) The international Flshe1 effect """"} fElE‘)) Purchasmg power parity.

(E) Interest rate parity.,

( )A forecast for the future voiauhty of an asset obtalned ﬁ“om the Black—SchoIes OPM is
called a(n)

; 3 = = ]
(&) re‘mdual error s (B) asset I]&;QEIJ return : (C) derlved case Volat111ty (DCV)
(D) forecasttho . (E) imiplied standari &&5izkion (ISD)’
o | r“’“J o

{ ) A public offer by one firm to directly buy the shares of another ﬁrm is called

a-

(A) merger (B) consolidation  (C)-tender offér (D) spinoff ©  (E) divestiture -
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38, { YAn attémpt to gain control of a firm by soliciting a sufficient number of shareholder

- (A) Tender offer.

39.

‘ through a merger or acquisition is callex (the)

- 40.

IIL.

' combmed leverage'? (10 points)

(D) consolidatibn effect .

leased asset on a nonrecourse basis i

votes to 1ep1acc the current board of d1rect01s is called a:
- (B) Proxy contest. . (C) Going-private transactmn

. S
(D) Leveraged buyout. (E) Consolidzﬁ_}n

"

{ - ) The positive incremental net g@d pcl ted WJth the comblnatmn of two firms -

{A) agency cqnfh(:fc (B) goodwﬂl (C) merger cost
(B) synetgy

¢ YA financial lease in which the les'riggr. orrowp a substantial fraction of the cost of the

(A) leveraged lease - (B) sale

(C) operating lease

(D) tax-oriented lease.  (E) straight lease

Essays_ (20 points)

Explain the degree of operating 1ev~e~rage the Hegree of financial leverage and the degree of

‘_._.........4
PR

Discuss the causes and solutions of Fur pe[r_l sbvereign debt crisis. (10 points)

St




